A ndix 5. Grade 12 Chemist, nit 3 - Kineti

2 NzOs —> 4 N02+ 02

? ?

The rate of formation of Oz is 1/2 times as fast as compared to the rate of disappearance of N2Os.

rate of formation of O, =1/2x2.5x 10°mol /L-s = 1.25 x 10° mol / L-s
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(d) CHag +2 Ozg — COzq + 2Hz0
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8.(a) [CH4l=mo!l =8.0mol=40mol/L
L 200 L

Rate of consumption of CH,4 = concentration = 4.0 mol /L

=125mol/L-s
time 32s

(b) Rate of consumption of O,

CHug) +2 Oz —> COzqg + 2 H20q

The rate of consumption of Oz is 2 times as fast as compared to the rate of consumption of CH, is

2x1.25mol/Ls=250mol/L-s



